Alg2 CC Chapter 4 review for quiz




Name:  ____________________
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
 In which quadrants does the graph of f(x) = -[image: image2.png]


 lie?
	a.
	I and II
	c.
	II and IV

	b.
	I and III
	d.
	III and IV


____
2.
In which quadrants does the graph of f(x) = 
[image: image3.wmf]x
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 lie?
	a.
	I and II
	c.
	II and IV

	b.
	I and III
	d.
	III and IV

	
	
	
	

	
	
	
	


____
3.
How can you obtain the graph of g(x) =
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 from the graph of f(x) = ?
	a.
	Translate the graph of f right 2 units.
	c.  Translate the graph of f left 2 units.
	

	b.
	Translate the graph of f up 2 units.
	d.  Translate the graph of f down 2 units.


	


____
4.
How can you obtain the graph of g(x) =
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 from the graph of f(x) = ?
	a.
	Translate the graph of  f  right 4 units.
	c.  Translate the graph of  f  left 4 units.
	

	b.
	Translate the graph of  f  up 4 units.
	d.  Translate the graph of  f  down 4 units.
	


____
5.
A group of x friends splits the cost of a family –style dinner for $50.  In addition to the cost of the dinner, each person orders a $5 dessert.  Which function gives the amount A(x) that each person pays?
	a.
	A(x) = 
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	c.
	A(x) =
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	b.
	A(x) =
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	d.
	A(x) =
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6.
Which rational function has a graph with the vertical asymptote x = -3?
	a.
	[image: image20.png]



	c.
	[image: image21.png]




	b.
	[image: image22.png]



	d.
	[image: image23.png]





____
7.
Describe the transformation you would have to perform from the parent graph to produce the given equation, then graph the function 
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	a.
	Translation right 1 unit and up 3 units.
	c.
	Translation down 3 units and right 1 unit.

	b.
	Translation down 3 units and left 1 unit.
	d.
	Translation left 1 unit and up 3 units.



_____
8.
Which function matches the graph?
[image: image1.png]



	a.
	[image: image25.png]



	c.
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	b.
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	d.
	[image: image28.png]





[image: image37.png]


9.  Graph the following functions:

a.  g(x) =
[image: image29.wmf]4
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            b.  g(x) = 
10.  Graph the following functions:

a.g(x)=
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            b.  g(x) = 
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